
See 1.6 Substitution

a sub for integrals from Calc

1 set u x

2 do du dx

2 5 get formula doc f
3 Replace x doc with u du

4 Integrate du

5 Replace re with x stuff

v sub for ODES
1 set v 71 y stuff
2 get formula 1h x v 1
3 replace y.dk with 1h
4 Solve new ODE for v treating v as dependent on x
5 Replace v x y in solution

6 Leave implicit solution F x y C

or solve for explicit y
7 Get particular solution



Sec 1.6 Substitution not linear

Ex Solve ODE 4xty.PT6x2 8ocyj2setv4x y y v 3
not separable

1 4 implicitly diff

ODE 4 412
sub 1 4 v2

1 4 v separable

14 ax

tan 4 x C

v 4tan x C

replate 4 4 4tan x C

y 4tan x c 42C

For equations
4 flax by c use v axtby c



Ex Find an implicit sol for
not separable of 311.1not linear
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Equations y I boy QQ yn are Bernoulli egs
n 0 y Py Q linear

n y Py Qy y Eg y
0 linear

also y Ry separable
For Bernoulli egs use sub v y
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